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2. The number of days (d) needed to assemble some machines varies directly s the number of machines
(m) denverscliSas the number of people (p) working. If it takes 4 people 32 days to assemble 16

machines, how many days will it take 8 people to assemble 24 machines?
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, in watts, dissipated as heat in a resistor varies{directlﬂas the square of voltage (V), in

L gl Sl

3. The power (P), in | (V).
volts, andlinverselylas the resistance (R) in ohms. If 20 volts are placed across a 20 ohm resistor, 1t

L S

will dissipate 20 watts. What voltage across a 10 ohm resistor will dissipate 40 watts?
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| 4. The stress (S) in the material of a pipe subject to int‘ernal pressure fari§ | |
pressure (P) and the internal diameter (D) of the pipe andﬁ-ﬁ;er-'.sglziwnhthe th.lckness.m of the pipe.

| The stress is 100 pounds per square inch when the diameter 1s 3 mchgs, tl}e thwkness 18..73 m.ch,.an‘d

| the internzl pressure is 25 pounds per sjuare inch. Find the stress when the mtemal pressure is 40

pounds per square inch if the diameter is 8 inches and the thickness is .50 inch. | e
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Solve each rational inequality. Write each solution in interval notation and graph the solution on the
number line. |
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3. The sum of a number rocal is — . Find the number.
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14. One pipe can fill a tank in 4 hours and another pipe can fill the tank in 6 hours. How long W@I ii«’!

to fill the tank if both pipes are used? |
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15. Carlos can mow a lawn in 45 minutes and Felipe can mow the same lawn in 30 minutes. How long
would it take the two of them working together to mow the lawn? !
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3 .1 6. Sally and Tom working together can paint the exterior of a house in 9 days. Tom by himself can
complete the job in 7 days less than Sally. How long will it take for Sally to complete the job

herself? (Quadratic formula is needed) i E e o Py g S(S"’D o= 254 . =Y
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17. A boat travels 246 miles downstream in the same time it takes to travel 130 miles upstream. The
speed of the current in the stream 1s 5.5 mph. Find the speed of the boat in still water,
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'1.

determine the number of fish in a lake, 2 conservationist catches 225 fish, tags them, and throws
them back into the lak ght and 15 of them are found to be tagged. Estimate
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